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SECTION A: ANSWER ALL QUESTIONS (40 MARKS)

QUESTION 1 ("L} +12+Y ma ks

a.

Discuss the importance of indirect estimation in demography. Elaborate your
answer with an example.

Describe briefly the characteristics of each region (family) of the Coale and
Demeny regional model life tables.

Describe how you would select a model life table from the Coale and Demeny
regional model life tableS to use in specific demographic estimation.

QUESTION2 ({4 ]0+4 Mchg)

a.

b.

What are the uses of Brass logit system?

Brass’ logit lifetable system mathematically relates two different life tables
using the equation:

Logit (Ix) = oL + ,B [[j)

(1) Define the functions Ix, li, and the parameters ¢{ and /4 .
(ii) Give the formula for computing logit (I1x).
(iii) Briefly outline two of the methods used to compute the parameters and

- What are the advantages of the logit system?
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SECTION B: ANSWER ANY THREE (3) QUESTIONS (60 MARKS)

QUESTION3 {4t 419 medks )

a. What are the assumptions of the Widowhood method?
b. What data are required to make use of the widowhood method?
C. Outline the computational procedure for estimating the conditional female

conditional survivorship probabilities using the widowhood method.

QUESTION4 (4 + i 3 b+4 Maxf.‘s>

a. Find the value of 49 corresponding to the level 13.8 in the female South Model
life table.

b. Find the value of ; dycorresponding to the level-14.7 in the female North model
life table. :

c. What is the probability of surviving to age 4 in a population whose probability of

surviving to age 5 is 0.785?7 Assume that the North model is applicable.
d. Using the West model, compute the percentage change in the under five female
mortality when the level changes from 9 to 10.

ouestions (|0 +1D MdkS\

Describe any two of the following indirect demographic estimation methods. Make sure
to include data requirements and computational procedures of each method.

a. Sisterhood method;

b. Orphanhood Method; and
c. Brass P/F Ratio Method.

QUESTIONG6  (( + y+bFy Md’-&)

a. What are the characteristics of a stable population?

b. What is the difference between strong ergbdicity and weak ergodicity?
c. Outline three uses of stable populations.

d. What is the difference between relational models and parametric models?
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"Part I. Description and Explanation
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